1.1 (Gontinueot )

direckion /slape Lielod

from last time : y

Y =Y  we Sreph Ha dope ak dlifferent
(¢, 4)
Y
’L VAR 4 'd"‘-'j does nat olerend on ¢
T | 2 e i Ioi
N \*-t Slopes dlant enge eft /right
RN
lets £y y'e g (3-y)
fiesk, notic tjr:o et 4o =3 heritokal clopes
\
\

GS&:'\. no ‘t' £o 'U\l

\~v!

Seme Slopes on each

horizontal line

(\ ~y/
-7




now we cheelk the rRGrons  Yy<o, = o¢y<¢3 Y>3

for yeo, ‘3'=3(3-3)<o
© ®

all negative siopess
neir y=o, shaltaw ne.jc:{-.'ve slope

JA=co, j'-»-oo a3 Wk Go oloun,greaw
negative slapes

for  0¢y¢3 Y= y(3-4y)vo
® @

Stacts neN13 O, inCresses &s Y inoreaces, then

decteirs 4o O atk y =3

for 433 5'=3(?-3)<o
@ @

O3 5-5@6‘ 3'-.,-.@

Freeper a5 R So wp.



i yler<o Gatial candition) td00, Y- 00
vf oc'J(n('i 't-'boo’ Y- 3

£ Y>3, taes, Y>3

' t
let s t"‘j Y = —Z-I-t-j

Slopes depenct on beth t and Yy

efficient ey to Gn&‘jz-e_: Lindd out whae 3': o

L

O -1+t-Yy

3: tT-2 = ow this [ine .ﬂepo.x (3') G W



y'z (£-2)- 4

above t-2 Yy>t-2
4'¢ o

mort abovt, mere N.sc(-ev-e

below o2y ¢ oy

[ 4
'3 Yy 0
rmorl Po.r*.t:ve be (o w



1.2 Solutions of Some b.‘ﬁerenl’."o.\ E‘BS

oy

— 2 0y-b a, b Caaskants
dt

C(onsteat

{

T Qir eSittence = YV

®
l I mass

B ey <
¢<— S’"’*"‘tj & cealecet s,

veloct
Shows 'A-P in -Free -‘-'all H e J

Newtons 20k Law @ [z ma

Vi deer welocity then a j’:

a by

et Av oy
oAt



4 . o(
lets solve ome : -2 - _,33 * 10

dt
Caat Solve "j tategrating both Sicls olissben al:‘fet'(:lj

( v dont Enow Y )

but wWR can de this:

dy (0
ax = 34y
) to
iviele b\j 3--‘?? (3¢'§')
l
73

10 de _ o
led us= y- 2 the 'oTi-:"a%



integrate both sides with respect & t

g—‘iﬂ"’& i f-z At

dt

— du g'go\'t

i lwl = “3t+c

lu“j-%’\ T -

ID » "‘3*“'Q ‘3{ C
\‘3"3 = L T e e
0 ¢ -3t ~3t
Y-S =te.e (e
3 .~
call
lt.C

qenecel solukion
10 -3t
j S -.i + CQ. :{ it 13 & Collechion of t-(:n'-‘tﬂ.(B-mj

Solubions Cone for each velue of C )




te {ind C' LR need onn Po-.ale o~ R Curve

+3pi(cl|3' 3(0) 3 30 (in‘.’cfal cof\ol?fiun)

His mekes tha problem an [nitiel-Value Problem

(Ivp)

b: %4— Ce-u.

(3(0)230 Sub in jzjc’t:o
N

- 10 5~
jo--—j--l-c 5o, C=3°--§

n ¥ _ o -3t
the \‘JC{:) T -i- + (jo-% e Y particwler Solwtisn




